DAILY BASIS ASSIGNMENT

DAY: MONDAY CLASS: V DATE:11.05.2020

SUBJECT: ENGLISH

l. Fill in the blanks by choosing the most appropriate pronoun out of the given
choices.

1.

Sherry’s mother asked not to open the door for strangers.
a. Him

b. Her

c. Someone

d. Anyone

Laura was borne in France, but mother was born in Germany.
a. His

b. Their

c. Her

d. Whose

These are my sisters. names are Cathy and Linda.
a. There

b. Them

c. Their

d. Her

My laptop is not working. Can luse __ ?

a. your

b. It

c. Yours

d. Their

He blamed for the mishap.

a. Himself

b. Yourself

c. Themselves

d. Whom

SUBJECT: EVS

1. CHOOSE THE CORRECT ANSWER.

1. The seeds of peas and balsam are dispersed by

a. Special features b. Water c. Explosion d. Animals



2. The process of scattering of seeds over a large area is
a. Wind b. Dispersal c. Water d. Animal
3. We grow plants on large scale so that we can get enough
a. Wind b. Timber c. Food d. Animal
4. Plants of same kind are grown in
a. One field b. Many field c. Crop d. Agriculture
5. Plants provide us

a. Oxygen b. Birds c. Animals d. Explosion

SUBJECT: MATHS

I. Choose the correct option:

1.The cost of 10 tiles is X2,500. What is the cost of one tile?

a) X25 b) X250 c) X500 d) X100
2.The cost of one teddy is X500. What is the cost of 5 such teddies?
a) X3,000 b) X2,500 c) 4,000 d) X1,500
3.The cost of 20 books is X4,000. What is the cost of one book?

a) X300 b) X150 c) X550 d) X200
4.The cost of one jacket X500. What is the cost of 15 such jackets?
a)%3,500 b)X5,000 €)X7,500 d)X6,000
5.The cost of 10 tricycles is X50,000. What is the cost of one tricycle?

a)%5,000 b)6,000 ¢)%8,000 d)<3,000

SUBJECT: COMPUTER

I Choose the best options from those given below:-

i) The size of memory determines the number and volume of program that can be
stored.
(a) Primary memory  (b) Secondary memory  (c) Both (a) and (b) (d) RAM

ii) When the power is switched off or discontinued the information stored in is lost or

erased



(a) Secondary memory  (b) ROM (c) RAM (d) Both (b) and (c)

iii) usually stored permanent programs and related instructions which the computer needs
to carry out user programs
(a) Floppy (b) DVD (c) CD-ROM (d) ROM

iv) bytes makes 1 Gigabyte (GB)
(a) 1024 MB (b) 1024 KB (c) 1024 TB (d) 1024 PB

v) To store data and program permanently and in much larger amounts, is employed
(@) Primary memory  (b) Secondary memory  (c) Both (a) and (b) (d) RAM
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